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IE 5z B E A BZE | #2% | GROSS | HDCP NET %8
B BER 8&%&X 41 43 84 12.0 72.0
EEEBIWAK B 38| 45 83 11.0 72.0
fI|BII HfREF 38| 37 75 2.0 73.0
ALl RBF 41| 42 83 10.0 73.0
SGr|pnfh A 41| 42 83 10.0 73.0
6I|F J&5ER 41| 43 84 11.0 73.0
PR VN 2|-< RE 36| 39 75 2.0 73.0
SHI|EEAR K5 38| 45 83 10.0 73.0
I|ElE H 46| 40 86 12.0 74.0
106Z|7%%EH & 45 40 85 11.0 74.0
14z =/E K48t 36| 38 74 0.0 74,0~ AR
1262f/hMR IEEA 41| 43 84 10.0 74.0
13GIfER & 43| 44 87 12.0 75.0
4GLER FX 39 46 85 10.0 75.0
1546z (lude ERA 40| 43 83 7.0 76.0
16fz|HEF 2 41| 45 86 10.0 76.0
17IfiEs & 40| 46 86 10.0 76.0
18fI[=EH FHi 43| 42 85 8.0 77.0
196y JE— 43| 46 89 12.0 77.0
20457 |PaFF  FH— 39 42 81 40 77.0
2142 |7% IEM 41| 45 86 9.0 77.0
22fI[iA = 42| 47 89 12.0 77.0
Iy ='E 41| 47 88 11.0 77.0
00 |HE Fif 45| 43 88 10.0 78.0
25{i|P5iE ER A 40| 40 80 2.0 78.0
26GI[3RApP  HEHH 45| 45 90 12.0 78.0
21611 838 41| 47 88 10.0 78.0
28GiffE2 K =B 41| 49 90 12.0 78.0
296I|F%F: EIZ 40| 48 88 10.0 78.0
30|12 FEAR 44| 43 87 8.0 79.0
SIBFL(ZER I FE 42 42 84 5.0 79.0
2I|FHF FE=2 43| 44 87 8.0 79.0
33|k A 48| 42 90 10.0 80.0
K7 T ivA [==EANE = 47| 44 91 11.0 80.0
35I| N F 41| 39 80 0.0 80.0
6HIINE FHiE 46| 45 91 11.0 80.0
SIGL|hFH &) 44| 42 86 5.0 81.0
BHI|FH F 46| 45 91 10.0 81.0
9fr|ir ER 49| 45 94 12.0 82.0
A0GI|EHRE  FsE 46| 44 90 8.0 82.0
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IE 5z B E A BZE | #2% | GROSS | HDCP NET %8
MNE|ER FF&F 47 47 94 12.0 82.0
AL\ REsBA 43| 44 87 5.0 82.0

A3 REA  FARER 46| 48 94 12.0 82.0
MEIFrL &5 47| 46 93 10.0 83.0
ASHIRR 43| 50 93 10.0 83.0
A6fz|hith 5 F] 37| 49 86 3.0 83.0
AL\ Bk 51| 45 96 12.0 84.0
ABLI|FRA  BESRK 46| 51 97 12.0 85.0
A946FO &= 47| 45 92 6.0 86.0
S0fiffkiE BX 46| 52 98 12.0 86.0
S1GI|IaRE 43| 53 96 10.0 86.0
b2(i|EEH B 44| 49 93 6.0 87.0
H3fir|fElE FT— 48| 43 91 3.0 88.0
SARIEAN =T 50/ 50 100 12.0 88.0
Shfir|mHF EH— 45| 51 96 8.0 88.0
S56fI|fEA X 44| 53 97 9.0 88.0
S5TGI|FE  HE 51| 50 101 12.0 89.0
B8GI[AAT Bt 53| 57 110 12.0 98.0
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